9 Surface Area and Volume |

Let’s study.

e Surface area of a cone e Surface area of a sphere
e \olume of a cone e \/olume of a sphere
Let’s recall.

We have learnt how to find the surface area and volume of a cuboid, a cube and a cylinder,
in earlier standard.

e Length, breadth and height of a cuboid are I, b, h respectively.

Cuboid _ _ _
(i) Area of vertical surfaces of a cuboid = 2(l + b) x h
Here we have considered only 4 surfaces into consideration.
(i1) Total surface area of a cuboid = 2(Ib + bh + Ih)
Ei 9| . Here we have taken all 6 surfaces into consideration.
ig.9.
(iii) Volume of a cuboid =1x b x h
Cube | e |flisthe edge of a cube,
(i) Total surface area of a cube = 6/2
(ii) Area of vertical surfaces of a cube =4/2
(iii) Volume of a cube = /3
Fig.9.2
Cylinder
yi — e Radius of cylinder is r and height is h.
N ]
(1) Curved surface area of a cylinder = 2rrh
h (i) Total surface area of a cylinder = 2xr(r + h)
(iii) Volume of a cylinder = ntr?h
Fig.9.3
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Practice set 9.1 >

Length, breadth and height of a cuboid shape box of medicine is 20cm, 12 cm and 10 cm
respectively. Find the surface area of vertical faces and total surface area of this box.
Total surface area of a box of cuboid shape is 500 sq. unit. Its breadth and height is 6 unit
and 5 unit respectively. What is the length of that box ?

Side of a cube is 4.5 cm. Find the surface area of all vertical faces and total surface area
of the cube.

Total surface area of a cube is 5400 sq. cm. Find the surface area of all vertical faces of
the cube.

. Volume of a cuboid is 34.50 cubic metre. Breadth and height of the cuboid is 1.5m and
1.15m respectively. Find its length.

What will be the volume of a cube having length of edge 7.5 cm ?

Radius of base of a cylinder is 20cm and its height is 13cm, find its curved surface area
and total surface area. (m = 3.14)

Curved surface area of a cylinder is 1980 cm? and radius of its base is 15cm. Find the

22
height of the cylinder. (= £l ).

Let’s learn.

CTerms related to a cone and their relatiorD

A cone is shown in the adjacent Fig.9.4. Centre of the
circle, which is the base of the cone, is O and A is the
vertex (apex) of the cone. Seg OB is a a radius and
seg OA s perpendicular to the radius at O, means AO
Is perpendicular height of the cone. Slant height of the
cone is the length of AB, which is shown by (l).

A AOB is a right angled triangle.

.". by the Pythagoras’ theorem

ABZ=A0?+OB?
RNEEY IS

That is, (slant height)? = (Perpendicular height)? + (Base radius)?

(Su rface area of a cone )

A cone has two surfaces : (1) circular base and (i1) curved surface.

Out of these two we can find the area of base of a cone because we know the formula for

the area of a circle.

How to find the curved surface area of a cone ? How to derive a formula for it ?
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A To find a formula for the curved surface area of
a cone, let us see the net of the curved surface,
which is a sector of a circle.
D B If a cone is cut along edge AB,we get its net
as shown in fig.9.5.

Compare the figures 9.4 and 9.5
Fig.9.5 Have you noticed the following things ?
(1) Radius AB of the sector is the same as the slant height of the cones.

(if) Arc BCD of the sector is the same as circumference of the base of the cone.
(iii) Curved surface area of cone = Area of sector A-BCD.

It means to find the curved surface area of a cone we have to find the area of its net that
is the area of the sector.

Try to understand, how it is done from the following activity.

/Activity : Look at the following figures. )

3 4
Cone Net of curved surface Pieces of the net
Fig. 9.6 Fig. 9.7 Fig. 9.8

Circumference of base of the circle =21r A B

As shown in the Fig.9.8, make pieces of the net as
small as possible. Join them as shown in the Fig.9.9.
By Joining the small pieces of net of the cone, we

get a rectangle ABCD approximately.
Total length of AB and CD is 27Tl D Tor C

length of side AB of rectangle ABCD is =nr Fig. 9.9
and length of side CD is also .

Length of side BC of rectangle = slant height of cone = 1.
Curved surface area of cone is equal to the area of the rectangle.

". curved surface area of cone = Area of rectangle = AB x BC = nir x | = nrl
N J
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Now, we can derive the formula for total surface area of a cone.
Total surface area of cone = Curved surface area + Area of base
=nrl + nr?

=nr(l+r)

Did you notice a thing ? If a cone is not closed (Just like a cap of jocker or a cap in a birthday
party) it will have only one surface, which is the curved surface. Then we get the surface area
of the cone by the formula rrl.

4 N\
Activity : Prepare a cylinder of a card sheet, keeping one of its faces open. Prepare an open

cone of card sheet which will have the same base-radius and the same height as that of the
cylinder.
Pour fine sand in the cone till it just fills up the cone. Empty the cone in the cylinder.

Repeat the procedure till the cylinder is just filled up with sand. Note how many coneful of
sand is required to fill up the cylinder.

Fig. 9.10

To fill up the cylinder, three coneful of sand is required.

Let’s learn.

(Volume of a cone )

If the base-radii and heights of a cone and a cylinder are equal then
3 x volume of cone = volume of cylinder
.". 3 X volume of cone = ntr?h

1
.". volume of cone = 3 X 7réh

Remember this !

(i) Area of base of a cone = nr? (ii) Curved surface area of a cone = rl

. 1
(iii) Total surface area of a cone = nur (I +r) (iv) Volume of a cone = 3% nreh
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Solved Examples :

Ex. (1) Radius of base (r) and perpendicular height (h) of cone is given.
Find its slant height (l)
(i) r=6cm,h=8cm, (i) r=9cm,h=12cm

Solution : 5
(i) r=6cm, h=8cm i (i) r=9cm,h=12cm
[2=1r2+ h? i [2=r2+ h?
- 2= (B) + (8) = (9)+ (12
2= 36+ 64 L P=81+144
- 12=100 L k=225
~1=10cm ;. l=15cm

Ex. (2) Find (i) the slant height, (ii) the curved surface area and (iii) total surface
area of a cone, if its base radius is 12 cm and height is 16 cm. (rt = 3.14)
Solution :

(i) r=12cm,h =16 cm (ii) Curved surface area = rl

P=r+he =314 X 12 X 20
2= (12)2 + (16)? E = 753.6 cm?
< 12=144 + 256 (iii) Total surface area of cone
" 12=400 =qnr (1 +r)
-1 =20cm § =3.14 X 12(20+12)
§ =314 x 12X 32
' =1205.76 cm?

EX. (3) The total surface area of a cone is 704 sq.cm and radius of its base is 7 cm, find the

slant height of the cone. (r = % )
Solution : Total surface area of cone = tr (1 + 1)

704:§ x7(1+7)

7_04:|+7
22
32=1+7
32-7=1I
| =25¢cm
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EX. (4) Area of the base of a cone is 1386 sq.cm and its height is 28 cm.

Find its surface area. (7t = % )

Solution : |
Area of base of cone = mr? L 122 (1) + (28)
1386=g X 72 S 12=441+ 1784
! P 12=1225
13826;7:r2 E S0=35cm
63Xx7=r? Surface area of Conzez =nrl
441 = r? § = X 2135
E =22x 21 x5
r=2tom i 2310 sq. cm.

< Practice set 9.2 >

1. Perpendicular height of a cone is 12 cm and its slant height is 13 cm. Find the radius of
the base of the cone.

N

Find the volume of a cone, if its total surface area is 7128 sq.cm and radius of base is
22
28 cm. (1t = — )

3. Curved surface area of a cone is 251.2 cm? and radius of its base is 8cm. Find its slant
height and perpendicular height. (t = 3.14 )

4. What will be the cost of making a closed cone of tin sheet having radius of base 6 m
and slant height 8 m if the rate of making is Rs.10 per sq.m ?

5. Volume of a cone is 6280 cubic cm and base radius of the cone is 30 cm. Find its
perpendicular height. (7t = 3.14)

6. Surface area of a cone is 188.4 sq.cm and its slant height is 10cm. Find its perpendicu-
lar height (7t = 3.14).

~

Volume of a cone is 1212 ¢cm3 and its height is 24cm. Find the surface area of the cone.
22
==
(n=2)
8. The curved surface area of a cone is 2200 sq.cm and its slant height is 50 cm. Find the
_ 22
total surface area of cone. (7 = = )

9. There are 25 persons in a tent which is conical in shape. Every person needs an area of
4 sq.m. of the ground inside the tent. If height of the tent is 18m, find the volume of the
tent.
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10. Inafield, dry fodder for the cattle is heaped in a conical shape. The height of the cone is
2.1m. and diameter of base is 7.2 m. Find the volume of the fodder. if it is to be covered
by polythin in rainy season then how much minimum polythin sheet is needed ?

(n = % and 1737 =4.17.)

Let’s learn.

CSurface area of a sphereD

Surface area of a sphere = 47tI?

.. Surface area of a hollow hemisphere = 27I?
Total surface area of a solid hemisphere
= Surface area of hemisphere + Area of circle

) =27r?+ tr? = 37mr?
Fig. 9.11

Take a sweet lime (Mosambe), Cut it into
two equal parts.

Take one of the parts. Place its circular face on a
paper. Draw its circular border. Copy three more
such circles. Again, cut each half of the sweet lime
into two equal parts.

Now you get 4 quarters of sweet lime. Separate the
peel of a quarter part. Cut it into pieces as small as
possible. Try to cover one of the circles drawn, by the
small pieces.

Observe that the circle gets nearly covered.

The activity suggests that,

curved surface area of a sphere = 4 7tI2,
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Solved Examples :

(1)  Findthesurfaceareaofaspherehaving | (2) Find the radius of a sphere having
radius 7 cm. (rt = 22 ) surface area 1256sq.cm.(mt = 3.14)
7 Solution : Surface Area of Sphere = 47tI?
Solution :  Surface Area of sphere = 47t S 1256 =4 x3.14 X I?
. 22 ) ., 1256
—4><7><(7) Sor = 11
:4x§x7x7 _ 31400
=88 x 7 314
- r2
_ 616 | 100 =1
Surface Area of sphere = 616 sq.cm. . 10=r
.". radius of the sphere is 10 cm.

/Activity - Make a cone and a hemisphere of cardsheet such that radii of cone and A
hemisphere are equal and height of cone is equal to radius of the hemisphere.
Fill the cone with fine sand. Pour the sand in the hemisphere. How

many cones are required to fill the hemisphere completely ?

Fig. 9.12

Two conefull of sand is required to fill the .".volume of sphere

hemisphere.
. 2 x volume of cone = volume of hemisphere. = 2 X volume of hemisphere.
.. volume of hemisphere =2 X volume of cone _4 e

3

1
=2x — x ur*h
3 . 4 3
.. volume of sphere = —nr
1 ) 3
=2X 3 X reX r

2
== nard
3
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Remember this !

2
® Volume of hemisphere = 3 nrs

e Total surface area of hemisphere = 27tr? + ntr?= 3mr?

Solved Examples :
Ex. (1) Find the volume of a sphere having
radius 21 cm. (n = % )

Ex. (2) Find the radius of a sphere
whose volume is

113040 cubic cm. (m = 3.14)

Solution : Volume of sphere = gnr3 Solution : Volume of sphere = gnr3

. g x % X (21)° 113040 = g X 314 X I3
_4 2 113040x3 _ 3
3 7 4x3.14
_ 88 % 441 28260x3 _ 1
3.14
volume of sphere = 38808 cubic cm. . 9000 x 3=r°
r® = 27000
r=30cm

x21x21x21 |
+ ", radius of sphere is 30 cm.

EX. (3) Find the volume of a sphere whose surface area is 314.sq.cm. (Take T = 3.14)

Solution : Surface area of sphere = 4xr? i
P i Volume of sphere = RS
314 =4 % 3.14 X r? : 3
314 =4 314 x5
4x3.14 = 2 : 3
H 4
i = - x3.14 x 125
4x314 i = 523.33 cubic cm.
E& =r? E
1 a
25 =12
r =5cm i
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Practice set 9.3 >

Find the surface areas and volumes of spheres of the following radii.

()4cm (1)9cm (i) 3.5cm. (mw=3.14)

If the radius of a solid hemisphere is 5cm, then find its curved surface area and total
surface area. (1 =3.14)

If the surface area of a sphere is 2826 c¢cm? then find its volume. (1t = 3.14)

Find the surface area of a sphere, if its volume is 38808 cubic cm. (1t = %)

Volume of a hemisphere is 18000 7t cubic cm. Find its diameter.

OO Problem set 9 - SOOOOOOOOOOOOOOOOOO

1.

N o o &

If diameter of a road roller is 0.9 m and its length is 1.4 m, how much area of a field will
be pressed in its 500 rotations ?

To make an open fish tank, a glass sheet of 2 mm gauge is used. The outer length,
breadth and height of the tank are 60.4 cm, 40.4 cm and 40.2 cm respectively. How
much maximum volume of water will be contained in it ?

If the ratio of radius of base and height of a cone is 5:12 and its volume is 314 cubic
metre. Find its perpendicular height and slant height (7t = 3.14).

Find the radius of a sphere if its volume is 904.32 cubic cm. (7 = 3.14)
Total surface area of a cube is 864 sq.cm. Find its volume.
Find the volume of a sphere, if its surface area is 154 sq.cm.

Total surface area of a cone is 616 sq.cm. If the slant height of the cone is three times the
radius of its base, find its slant height.

The inner diameter of a well is 4.20 metre and its depth is 10 metre. Find the
inner surface area of the well. Find the cost of plastering it from inside at the rate
Rs.52 per sq.m.

The length of a road roller is 2.1m and its diameter is 1.4m. For levelling a ground
500 rotations of the road roller were required. How much area of ground was levelled
by the road roller? Find the cost of levelling at the rate of Rs. 7 per sq. m.

| [
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1. Basic Concepts in Geometry

o

( Practice set 1.1 )

(i) 3 (i1) 3 (iii) 7 (iv) 1

(v)3 (vi) 5 (vii) 2 (viii) 7

16 @G)8 ((i)10 (@Gv)1  (v)3 (vi) 12

(1) P-R-Q  (ii) Non collinear  (iii) A-C-B (iv) Non collinear

(v) X-Y-Z  (vi) Non collinear
18and 2 5.25and 9  6.()4.5 (i) 6.2 (iii) 2v7 7. Triangle

(Practice set 1.2)
(i) No (i)No (i) Yes 2.4 3.5 4. BP<AP<AB
(1) Ray RS or Ray RT (i1) Ray PQ (ii1) Seg QR (iv) Ray QR and Ray RQ etc.
(v) Ray RQ and Ray RT etc.. (vi) Ray SR, Ray ST etc.. (vii) Point S
(1) Point A & Point C, Point D & Point P (i1) Point L & Point U, Point P & Point R
(i) d (U,v)=10, d(PC)=6, d(VB)=3, d(UL)=2

(Practice set 1.3 )

(1) If a quadrilateral is a parallelogram then opposite angles of that quadrilateral are
congruent.

(i) If quadrilateral is a rectangle then diagonals are congruent.

(1i1) Ifa triangle is an isosceles then segment joining vertex of a triangle and mid point
of the base 1s perpendicular to the base.

(1) If alternate angles made by two lines and its transversal are congruent then the
lines are parallel.

(i) If two parallel lines are intersected by a transversal the interior angles so formal
are supplementary.

(i11) If the diagonals of'a quaddrilateral are congruent then that quadrilateral is rectangle.

( Problem set 1 )

(i) A (i) C (i) C (iv) C (v) B

(1) False (i) False  (ii1) True (iv) False

(1) 3 () 8(@i) 9 (iv)2 (v) 6 (vi)22 (vii) 165

-15 and 1 5. (1) 10.5 (i) 9.1 6. -6 and 8

OAQAOTSAQAOOTA OO oo lbbCT O



2. Parallel Lines

(Practice set 2.1 )

1. (i) 95° (ii) 95° (iii) 85° (iv) 85°
2.  za=170° /b=70°, ~Cc=115° /d=65°
3. ~a=135° /b=135° /C=135°
5. (1) 75° (i) 75° (iii) 105° (iv) 75°
( Practice set 2.2 )
1.  No. 4. /ABC =130°
( Problem set 2 )
1. () C (i)C (ii))A (iv) B (v) C 4. X=130° y =50°
5. x=126° 6. f=100° ¢=280°
3. Triangles
( Practice set 3.1 )
1. 110° 2. 45° 3.80°,60°, 40° 4.30°, 60°, 90°
5. 60°80° 40° 6. Z/ZDRE =70°, ZARE = 110°
7.  ZAOB=125° 9. 30°,70°, 80°
(Practice set 3.2 )
(1) SSC Test  (i1)) SAS Test  (iii)) ASA Test (iv) Hypotenuse Side Test.
(1) ASA Test, ZBAC = ZQPR ,side AB = side PQ, side AC = side PR
(ii) SAS Test, ZTPQ= /TSR, LTQP = /TRS, side PQ = side SR
3. Hypotenuse Side Test, ZACB = ZQRP, ZABC = ZQPR, side AC = side QR
4, SSS Test, /MLN = ZMPN, ZLMN = /MNP,ZLNM = /PMN
(Practice set 3.3 )
1.  X=50°,y=60°, MZABD=110°, MZACD =110°.
2. 7.5 Units 3. 6.5 Units 4. 1(PG)=5cm, I(PT)=7.5cm
( Practice set 3.4 )
1. 2cm 2.28° 3. ZQPR, ZPQR 4. greatest side NA, smallest side FN
( Practice set 3.5 )
1., X _ ¥ X2 x> sv=sM, £22 2N
LM MN LN
2. I(QR) =12 cm, I(PR) =10 cm
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( Problem set 3 )

1. (i) D (i) B (iii) B
5. Quadrilaterals
( Practice set 5.1 )
1. msAXWZ=135°, msLYZW =45° , | (WY) =10 cm
2. X=40°,/C=132°, /D =48°
3. 25 cm, 50 cm, 25 cm, 50 cm
4, 60°, 120°, 60°, 120°
6. /A=70°, /B=110°, /C=70°, /R =110°
( Practice set 5.3 )
1. BO =4cm, /ACB = 35°
2. QR =7.5cm, ZPQR =105°, ZSRQ = 75°
3. ZIMJ=90°, ZJIK =45°, /LJK = 45°
4, side = 14.5 cm, Perimetere = 58 cm
5. (i) False (ii) False (iii) True (iv) True (v) True (vi) False
( Practice set 5.4 )
1. £1=127°, ZL=T72° 2. /B=108°, /D =72°
( Practice set 5.5 )
1. XY=45cm, YZ=25cm, XZ=5.5¢cm
( Problem set 5 )
1. (i) D (i) C (i) D 2. 25¢cm, 3. 6.5/2 cm
4.24 cm, 32 cm, 24 cm, 32 cm 5. PQ=26cm 6. /MPS = 65°
6. Circle
( Practice set 6.1 )
1. 20cm 2.5¢cm 3. 32 unit 4. 9 unit
( Practice set 6.2 )
1. 12 cm 2.24 cm
( Problem set 6 )
1. A (i)C (ii)A (vyB (vyD (vijC (viiDorB 2.2:1 4. 24 units

oA QAOTQA OO oo bCT OO




7. Co - ordinate Geometry

N

N =

( Practice set 7.1 )

point A : Quadrant Il, point B : Quadrant 111, point K : Quadrant I, point D : Quadrant |
point E : Quadrant I, point F : Quadrant IV, point G : Quadrant IV, point H : Y-AXis.
point M : X-Axis, point N : Y-AXis, point P : Y-Axis, point Q : Quadrant 111

(i) Quadrant | (i1) Quadrant 111 (ili) Quadrant IV (iv) Quadrant 11
( Practice set 7.2 )

Square 2.X=-7 3.Yy=-5 4.X =-3 5. 4

(i) Y-Axis, (i) X-axis, (i) Y-axis, (iv) X-axis,

To X-axis (5,0) , To Y-axis (0,5)
(-4,1), (-1.5,1), (-1.5,5), (-4,5)

( Problem set 7 )

Mmc (@)A (@gi)B (@(vyC (vC (viB

1 Q(-22),R(4,-1) (ii) T(0,-1), M(3,0) (iii) point S  (iv) point O
(i) Quadrant IV (ii) Quadrant Il

(iii) Quadrant Il (iv) Quadrant Il (v) Y-axis  (vi) X-axis

()3 (i) P(3.2), QB3,-1),R(30) ()0 6..y=5Yy=-5 7.[a

8. Trigonometry

( Practice set 8.1 )

i) &8 (1) ox i) 2% () 28

PO PO PR QR
i) ¢ (i) (DR “
 MN LM LM MN
O @y ) W
_PQ RQ PQ QS PQ QS

O3 PR R IV g ps ’PQ

( Practice set 8.2 )

. 12 1 2 21 8 1 60 1 3 20 15 4 22
SInB :_7_ Ty AN A A~ ;Cose:_l_!_l_!_!_
37" 2329173 1" 2297175

3
4
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93 3
(i)%(ii)z—o Gi)5  (iv) J2§J+§1 (v)%(vi)% 3% .l

( Problem set 8 )

()A (i))D (iii) C (iv) D

) 12 . 5
sSinT = E,COST: i,tanT: —,sinU = i,cosU: E,tanU: —
13 13 5 13 13 12
. 8 15 8 . 15 8
sinY=—,cosY=—,tanY=—,siInZ=—,c08Z= —,tanZ= —
17 17 15 17 17 8
) 7 7 . 49 576
sinO= — tanO = — ,sin20= —,cos20 = —
25 24 625 625
(1) 70 (ii) 60 (iii) 50

9. Surface Area and VVolume

( Practice set 9.1 )

640 sq.cm, 1120 sq.cm. 2. 20 Unit 3. 81 sq.cm, 121.50 sq.cm.
3600 sq.cm. 5.20m 6. 421.88 cubic cm
1632.80 sq.cm, 4144.80 sq.cm. 8.21cm

( Practice set 9.2 )

. 5cm 2. 36960 cubic cm. 3.10cm, 6 cm 4. 2640

5. 15¢cm 6. 8 cm 7.550 sq.cm 8. 2816 sq.cm, 9856 cubic cm
9. 600 cubic metre 10. 28.51 cubic metre, 47.18 sq.m.

=

( Practice Set 9.3 )

. (1) 200.96 sq.cm, 267.95 cubic cm.  (i1) 1017.36 sq.cm, 3052.08 cubic cm.
(ii1) 153.86 sq.m, 179.50 cubic cm.

. 157 sq.cm, 235.5 sq.cm. 3. 14130 cubic cm. 4. 5544 sq.cm. 5. 60 cm
( Problem set 9 )
1980 sq.m. 2. 96801.6 cubic cm. 3. 12m, 13 m
. 6cm 5. 1728 cubic cm. 6. 179.67 cubic cm.
7. 21cm 8. 132 sq.m., T 6864 9. 4620 sq.m, < 32340
[ |
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